| PLANT ENTERPRISES PRODUCTION | | | | | | | |
|---|------------------------|----------|-------------------|---------------------|----------------------|---------------------|--|
| Crop | Number of Producers | Acres | Yield per Acre | Total Production | Units of Measure | Gross Farm Value | |
| COTTON | | | | | | | |
| Lint - Non-irrigated | | 17,760.0 | 800.00 | 14,208,000 | lbs. | \$7,388,160 | |
| Seed - Non-irrigated | | 17,760.0 | 1,280.00 | 22,732,800 | lbs. | \$1,250,304 | |
| Cotton (Total) | 59 | 17,760.0 | | | | \$8,638,464 | |
| FORESTRY | | | | | | | |
| Pulpwood | | | | | | | |
| Pine | | | | 132,457 | cords | | |
| Hardwood | | | | 24,108 | cords | | |
| Pulpwood (Total) | | | | 156,565 | | | |
| Chip & Saw | | | | 6,505 | cords | | |
| Saw Timber | | | | | | | |
| Pine | | | | 52,019,562 | board feet | | |
| Hardwood | | | | 1,978,575 | board feet | | |
| Saw Timber (Total) | | | | 53,998,137 | | | |
| Total Pulpwood, Chip & Saw Saw Timber FOB Mill | 2 | | | | | \$37,490,690 | |
| Total Forestry Stumpage | | | | | | \$22,155,690 | |
| Christmas Trees | * | | | 2,200 | trees | \$88,000 | |
| Pine Straw | * | | | 9,000 | bales (40 lbs.) | \$18,000 | |
| Forestry Seedlings | * | 2.0 | 45,000.00 | 90,000 | seedlings (1,000) | \$3,150 | |
| Forestry (Total) | | 2.0 | | | | \$37,599,840 | |
| FRUITS | | | | | | | |
| Blueberries | 8 | 12.0 | 690.00 | 8,280 | lbs. | \$10,350 | |
| Mayhaws | | | | | | - | |
| Native | * | 2.0 | 100.00 | 200 | lbs. | \$200 | |
| Orchard | * | 12.0 | 250.00 | 3,000 | lbs. | \$3,750 | |
| Mayhaws (Total) | | 14.0 | | | | \$3,950 | |

Page 1 of 8

| PLANT ENTERPRISES PRODUCTION | | | | | | | |
|-------------------------------|------------------------|----------|-------------------|-----------------|---------------------|---------------------|---------------------|
| Crop | Number of Producers | Acres | Yield per Acre | | Total Production | Units of Measure | Gross Farm Value |
| FRUITS | | | | | | | |
| Peaches | * | 10.0 | 65.00 | | 650 | bu. | \$19,500 |
| Fruits (Total) | | 36.0 | | | | | \$33,800 |
| FEED GRAINS | | | | | | | |
| Corn | 60 | 5,716.0 | 150.00 | | 857,400 | bu. | \$1,963,446 |
| Grain Sorghum | 65 | 5,748.0 | 56.00 | | 321,888 | cwt. | \$1,287,552 |
| Feed Grains (Total) | | 11,464.0 | | | | | \$3,250,998 |
| GREENHOUSE VEGETABLE | ES | | | | | | |
| Tomatoes | * | 5,760.0 | 4.50 | Yield / sq. ft. | 25,920 | lbs. | \$34,992 |
| Greenhouse Vegetables (Total) | | 5,760.0 | | _ | | | \$34,992 |
| HAY FOR SALE | | | | | | | |
| Grass | 150 | 6,000.0 | 1.50 | | 9,000 | tons | \$450,000 |
| Hay for Sale (Total) | | 6,000.0 | | | | | \$450,000 |
| HOME GARDENS | 1,342 | | | | | | \$402,600 |
| NURSERY CROPS | | | | | | | |
| Fruit and Nut Trees | 6 | | | | | acre | \$50,000 |
| Floraculture & Bedding | 15 | | | | | acre | \$4,000,000 |
| Plants | | | | | | | |
| Woody Ornamentals | 200 | | | | | acre | \$45,000,000 |
| Foliage Plants | 30 | | | | | acre | \$2,000,000 |
| Nursery Crops (Total) | | | | | | | \$51,050,000 |
| PECANS | | | | | | | |
| Improved | 11 | 300.0 | 600.00 | | 180,000 | lbs. | \$207,000 |
| Native | 60 | 158.0 | 500.00 | | 79,000 | lbs. | \$47,400 |
| Pecans (Total) | | 458.0 | | | - | | \$254,400 |
| RICE | 14 | 6,325.0 | 61.00 | | 385,825 | cwt. | \$2,141,329 |
| SOYBEANS | 115 | 15,420.0 | 40.00 | | 616,800 | bu. | \$4,101,720 |
| SUGARCANE | | - , | | | | | |

Page 2 of 8

| PLANT ENTERPRISES PRODUCTION | | | | | | | |
|---|------------------------|----------|-------------------|---------------------|---------------------|---------------------|--|
| Сгор | Number of Producers | Acres | Yield per Acre | Total Production | Units of Measure | Gross Farm Value | |
| SUGARCANE | | | | | | | |
| Raw Sugar | 25 | 13,139.0 | 6,200.00 | 81,461,800 | lbs. | \$9,938,340 | |
| Molasses | | 13,139.0 | 186.00 | 2,443,854 | gal. | \$354,359 | |
| Sugarcane (Total) | | 13,139.0 | | | | \$10,292,698 | |
| SWEET POTATOES | | | | | | | |
| Canning | | | | 10,500 | | \$21,000 | |
| Fresh | | | | 19,500 | | \$351,000 | |
| Sweet Potatoes (Total) | * | 100.0 | 300.00 | 30,000 | bu. (50 lbs.) | \$372,000 | |
| VEGETABLES | | | | | | | |
| Cabbage | | | | | | | |
| Fresh | * | 12.0 | 495.00 | 5,940 | sacks (50 lbs.) | \$41,580 | |
| Cabbage (Total) | | 12.0 | | | | \$41,580 | |
| Collards | | | | | | | |
| Fresh | * | 12.0 | 460.00 | 5,520 | doz. bunches | \$38,640 | |
| Collards (Total) | | 12.0 | | | | \$38,640 | |
| Irish Potatoes | | | | | | | |
| Fresh | * | 3.0 | 170.00 | 510 | cwt. | \$15,300 | |
| Irish Potatoes (Total) | | 3.0 | | | | \$15,300 | |
| Mustard (Fresh) | * | 3.0 | 600.00 | , | doz. bunches | \$12,600 | |
| Okra (Fresh) | 8 | 8.0 | 185.00 | 1,480 | | \$29,600 | |
| Green Onions | 7 | 4.0 | 2,840.00 | 11,360 | lbs. | \$17,040 | |
| Peppers | | | | | | | |
| Bell | * | 2.0 | 725.00 | 1,450 | bu. (28 lb.) | \$21,750 | |
| Peppers (Total) | | 2.0 | | | | \$21,750 | |
| Shallots | * | 2.0 | 1,410.00 | , | doz. bunches | \$14,100 | |
| Snap Beans (Fresh) | * | 3.0 | 28.00 | | bu. (30 lbs.) | \$1,680 | |
| Southern Peas (Fresh) Squash (Fresh) | 15 | 20.0 | 100.00 | 2,000 | bu. (24 lbs.) | \$40,000 | |

Page 3 of 8

| PLANT ENTERPRISES PRODUCTION | | | | | | | |
|------------------------------|-----------|-------|-----------|------------|----------------|---------------|--|
| | Number of | | Yield per | Total | Units of | Gross Farm | |
| Crop | Producers | Acres | Acre | Production | Measure | Value | |
| VEGETABLES | | | | | | | |
| Yellow Squash | * | 2.0 | 140.00 | 280 | bu. (45 lbs.) | \$3,360 | |
| Squash (Fresh) (Total) | | 2.0 | | | | \$3,360 | |
| Squash (Processing) | | | | | | | |
| Yellow Squash | * | 2.0 | 245.00 | 490 | cwt. | \$5,390 | |
| Squash (Processing) (Total) | | 2.0 | | | | \$5,390 | |
| Sweet Corn (Fresh) | 11 | 45.0 | 940.00 | 42,300 | doz. ears | \$126,900 | |
| Tomatoes (Field) | * | 5.0 | 800.00 | 4,000 | lugs (20 lbs.) | \$60,000 | |
| Turnips (Fresh) | * | 3.0 | 600.00 | 1,800 | doz. bunches | \$12,600 | |
| Watermelon | * | 3.0 | 175.00 | 525 | cwt. | \$3,150 | |
| Vegetables (Total) | | 129.0 | | | | \$443,690 | |
| WHEAT | * | 212.0 | 48.00 | 10,176 | bu. | \$32,767 | |
| TOTAL ALL PLANT ENTER | PRISES | | | | | \$119,099,298 | |

| | FISHERIES & WILDLIFE ENTERPRISES PRODUCTION | | | | | | | |
|---|---|------------------------|---------------------|---------------------|---------------------|--|--|--|
| Fisheries | Number of Producers | Units of Production | Total Production | Units of Measure | Gross Farm Value | | | |
| AQUACULTURE | | | | | | | | |
| Crawfish (Farm) | 11 | 900 Acres in Prod. | 333,000 | lbs. | \$216,450 | | | |
| Catfish (Farm) | * | 350 Acres in Prod. | 1,050,000 | lbs. | \$598,500 | | | |
| Aquaculture (Total) FRESHWATER FISHERIES | 5 | | | | \$814,950 | | | |
| Catfish (Wild) | 58 | | 762,816 | lbs. | \$356,235 | | | |
| Buffalo | 58 | | 592,470 | lbs. | \$91,240 | | | |
| Gar | 58 | | 124,700 | lbs | \$114,973 | | | |
| Other Finfish | 58 | | 72,500 | lbs. | \$13,195 | | | |
| Freshwater Fisheries (Total) | | | | | \$575,644 | | | |

Page 4 of 8

| FISHERIES & WILDLIFE ENTERPRISES PRODUCTION | | | | | | | |
|---|------------------------|------------------------|---------------------|---------------------|---------------------|---------------------|--|
| Fisheries | Number of Producers | Units of Production | | Total Production | Units of Measure | Gross Farm Value | |
| FUR ANIMALS | | | | 758 | pelts | \$4,017 | |
| ALLIGATORS (WILD) | | | | 577 | ft. | \$12,705 | |
| HUNTING LEASES | 210 | 302,000 | No. Acres Leased | | acre | \$1,661,000 | |
| HONEY | * | 790 | No. Hives | 63,200 | lbs. | \$85,320 | |
| TOTAL ALL FISHERIES & | | | | | \$3,153,636 | | |

| ANIMAL ENTERPRISES PRODUCTION | | | | | | | |
|-------------------------------|------------------------|------------------------|---------------------|---------------------|---------------------|--|--|
| Animal | Number of Producers | Units of Production | Total Production | Units of Measure | Gross Farm Value | | |
| CATTLE & CALVES | | | | | | | |
| Steer Calves | | | | | | | |
| 300-400 lbs. | | | 3,435 | head | \$1,248,176 | | |
| 400-500 lbs. | | | 1,055 | head | \$440,995 | | |
| 500-600 lbs. | | | 525 | head | \$241,222 | | |
| 600-700 lbs. | | | 265 | head | \$137,800 | | |
| Steer Calves (Total) | | | | | \$2,068,193 | | |
| Heifer Calves | | | | | | | |
| 300-400 lbs. | | | 3,300 | head | \$1,056,363 | | |
| 400-500 lbs. | | | 1,015 | head | \$382,619 | | |
| 500-600 lbs. | | | 500 | head | \$212,960 | | |
| 600-700 lbs. | | | 255 | head | \$124,313 | | |
| Heifer Calves (Total) | | | | | \$1,776,255 | | |
| Yearling Cattle | | | | | | | |
| 600-700 lbs. | | | 620 | head | \$322,400 | | |
| 700-800 lbs. | | | 320 | head | \$180,000 | | |
| Yearling Cattle (Total) | | | | | \$502,400 | | |

Page 5 of 8

| | ANIMAL ENTERPRISES PRODUCTION | | | | | | | |
|---------------------------|-------------------------------|------------------------|-----------------|---------------------|---------------------|---------------------|--|--|
| Animal | Number of Producers | Units of Production | | Total Production | Units of Measure | Gross Farm Value | | |
| CATTLE & CALVES | | | | | | | | |
| Cow-Calf Pairs | | | | 1,250 | • | \$900,000 | | |
| Cull Cows | | | | 2,000 | | \$660,450 | | |
| Cull Bulls | | | | 50 | head | \$36,525 | | |
| Cattle & Calves (Total) | 430 | 15,050 | No. Cows | | | \$5,943,823 | | |
| DAIRY | | | | | | | | |
| Dairy Cows | | | | | | | | |
| Milk | * | 60 | No. Adult Cows | | pounds | \$99,238 | | |
| Cull Cows | | | | | head | \$7,284 | | |
| Bull Calves | | | | 33 | head | \$908 | | |
| Dairy Cows (Total) | | | | | | \$107,430 | | |
| Dairy (Total) | | | | | | \$107,430 | | |
| HORSES | | | | | | | | |
| Brood Mares | | | | | | | | |
| Race Horses | 60 | | No. Brood Mares | - | head | \$660,000 | | |
| Show Horses | 50 | | No. Brood Mares | | head | \$285,000 | | |
| Recreation Horses | 20 | 75 | No. Brood Mares | 37 | head | \$55,500 | | |
| Brood Mares (Total) | | | | | | \$1,000,500 | | |
| Stud Fees | | | | | | | | |
| Race Horses | | | No. Stallions | | mares bred | \$700,000 | | |
| Show Horses | | | No. Stallions | | mares bred | \$375,000 | | |
| Recreation Horses | | 5 | No. Stallions | 100 | mares bred | \$10,000 | | |
| Stud Fees (Total) | | | | | | \$1,085,000 | | |
| Race Horses | 35 | | | | head | \$1,200,000 | | |
| Show Horses | 400 | | | | head | \$3,200,000 | | |
| Recreation Horses | 500 | | | 900 | head | \$900,000 | | |
| Horses (Total) POULTRY | | | | | | \$7,385,500 | | |

Page 6 of 8

| | ANIMA | AL ENTERPRISES | <u>5 PRODUCTI</u> | ON | | |
|-----------------|------------------------|------------------------|--------------------|---------------------|---------------------|---------------------|
| Animal | Number of Producers | Units of Production | | Total Production | Units of Measure | Gross Farm Value |
| POULTRY | | | | | | |
| Edible Eggs | 10 | 225 | No. Hens | 3,825 | doz. eggs sold | \$3,213 |
| Poultry (Total) | | | | | | \$3,213 |
| RABBITS | | | | | | |
| Fryers | 20 | | No. Animals | 57,600 | | \$46,080 |
| Does | 20 | 7,200 | No. Animals | 28,800 | lbs. | \$432,000 |
| Rabbits (Total) | | | | | | \$478,080 |
| QUAIL | 8 | 1,200 | No. Breed Stock | 70,000 | each | \$140,000 |
| SHEEP | | | STOCK | | | |
| Wool | | 330 | No. Sheared | 1,780 | owt | \$285 |
| Slaughter Lambs | | 550 | No. Silcarcu | · · · · · · | head | \$9,813 |
| Feeder Lambs | | | | | head | \$3,870 |
| Show Lambs | | | | | head | \$11,000 |
| Stocker Sheep | | | | | head | \$950 |
| Cull Sheep | | | | | head | \$1,050 |
| Sheep (Total) | * | 130 | No.Breeding | 50 | neuu | \$26,967 |
| Sheep (10tul) | | 150 | Ewes | | | <i>\\\20,907</i> |
| GOATS | | | 2005 | | | |
| Show Goats | | | | 30 | head | \$4,500 |
| Slaughter Goats | | | | | head | \$65,025 |
| Stocker Goats | | | | | head | \$16,575 |
| Cull Goats | | | | | head | \$4,200 |
| Goats (Total) | 35 | 700 | No. Does | | | \$90,300 |
| SWINE | | | | | | ÷> • ;= 0 0 |
| Show Pigs | | | | 50 | head | \$15,000 |
| Feeder Pigs | | | | 2,500 | | \$45,000 |
| Slaughter Hogs | | | | | head | \$55,575 |

Page 7 of 8

| ANIMAL ENTERPRISES PRODUCTION | | | | | | | |
|-------------------------------|------------------------|------------------------|---------------------|---------------------|---------------------|--|--|
| Animal | Number of Producers | Units of Production | Total Production | Units of Measure | Gross Farm Value | | |
| SWINE | | | | | | | |
| Culls | | | 30 | head | \$3,300 | | |
| Swine (Total) | 40 | 200 No. Sows | | | \$118,875 | | |
| TOTAL ALL ANIMA | AL ENTERPRISES | | | | \$14,294,188 | | |
| RAPIDES PARISH | H TOTAL | | | \$136,547,122 | | | |